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For if you will assume that it is Xn>31I87, as soon as he slaughters it, etc.

Overview

7AMY° ' maintains 70 7YY 72°00M 7Y NWY 71w°; the X3 infers that he cannot maintain
RNMIRT 7TV WA 0, for in that case he is not MW the owners animal (so there
cannot be 'm "7 mwn), since it became 7X172 MOK after the first nick (since it is MOX
XN™RTH 7X3I72). Our NMdOIN explores what is its status if it is 70X only 312777.
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It seems that if 771v2 WNWIw 1210 was prohibited (only) 32977, it would rightfully

be considered that the ox being slaughtered belongs to the owner -
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And on account of this, it would appear that we can infer that deriving benefit

from an offering to an 'Y is prohibited n''71%; we can make this inference -
= 29911 INNIN NIT NHAYY VNIY IINMI 2299 2998D 9INRPIN

Since the X772 asked previously, ‘why does »''9 find one who slaughters an ox

for 1"y, liable for 'm '7 payment; the question is -
= 199 929V 2PUN 11N 13297 IN) NAVP NINT XY TR NIDN RNNID VNYT IS

For as soon as he was umw a bit (for 1"v), he made it forbidden 7X172, so for the
rest of the v Y, he was not ¥ the owner’s ox’; now if 1"y n21pn 1s forbidden

7R172 only 722977, it should still be rightfully considered the owner’s as we say here
regarding 2"wn. This proves that 1"y N219pN is N"77 AXIT2 770K —

maoIN questions this inference:
= 192979 RYN NNINA NIION XD 199N NIT NI2Y NAIPHNT MIINTD W 1171919

However, it is possible to reject this inference, for regarding "'y nayapn, even if it

is IRI772 710K only 33397M, nevertheless -
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It is rightfully considered that it is not his, since the 2°»51 prohibited it from all
types of IR, meaning -

! Everyone agrees that 2"wn is 710X; the dispute is whether it is "7 MO or (only) 1312777, If we would maintain that
the 132771 (7R177) MO*K, has the effect that it no longer belongs to the owner, then there is a difficulty, regardless whether
2"wn is 0" or 13127177 (if we maintain 710 731 72°nNR MU NWS 7w°); why make the inference that *"1 maintains that 2"wn
is RN™MIRT WY, since even if it is 1327771 there will be the same difficulty. This proves that if 2"wn is 112777, there is no
issue of mav 77T K.
23Ry,
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That even if he betrothed a woman with this 7"'v D220, the woman is not nwTIPn -
- 5919 6052125 NP (51782)) 4703 152 WTPNN 301 o) PYITPT RNODINA 1INTS
As it was taught in the XnpoIn of PRNTP NOON, ‘one who betrothed with o1 1
(and with 1"'v) and with 2°212% n1w, etc. -
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Even though he was w7pn with their money, nevertheless she is not nwipn’ -
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However, regarding 2'"n if it were X172 70X only 333972, and he was wTp»n a
woman with it, she would be n217p», therefore it is considered still that it belongs

to the owner, even though it is 7X372 MOK, and NMDOIN proves this -
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For in the end of wTpn wiN7 P75 the XN*72 states regarding 2w that if one was

vIPn a woman with it -
= VTIPN 9MMIN YRV *a9

©''% maintains that she is nwpn -
=919 ENSIINT IND NP2 YVNYIY PIIN PYNY 229 920D RNIN 72999

And the X3 asked, ‘it is evident that @''9 maintains 2"'2m is not 0", etc.” —

mooIN continues discussing 1"'v N217pPN:
= 9907 PRVNRYN PIPTD Y RIIINT INTI NMHNT NDIIN NOIN 171

However, we can infer from the previous X923 that the prohibition of eating

1"y n2pPN is certainly N'', even if the X317 MoK is only 13127377 -
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For previously the 129 exempted one who was vwmw for an "'y, from paying 'm'7,

on account that it is an unfit monw -
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And if the prohibition for eating 1Y n21pn is only 3j1297R, it would not be

3y,
4901 7 is wine which was poured before an 1"y, it is the same as 1"¥ n21pn, which Mmoo is discussing.
3 The 9"w1nn deletes the word '1"vaY, since we are discussing 1"y n217pn, not 1"y itself. However, in Xnoon it does state
T"'yay.
¢ The gentiles would cut a circle in the hide of the animal by its heart (27), and would offer the heart with the hide
around it for the 1"y, hence the name 0°212% Ny, the hides of the hearts. It is also considered v na1pn.
7 He sold the 1", etc. and was wTpn the woman with the money of the sale.
8 It is evident that if 2"wn is X IXT W2, the PW1TpP is effective; however, by 1"y n21pn it is not effective, this shows
that we cannot compare the two. Therefore, we can maintain that 1"y n219pn is 78172 MOX only 7127171, and nevertheless
it is mawvp 7717 Y, for the prohibition is stricter; however by 2"wn if it is 1312777 it still belongs to the 7.
9 R,RY.
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considered a 9INT INRY UMW -
- 19297 9NT INNDY 1°NaYT AV S

Just like working on naw, according to the one who maintains that naw nwyn

(like voMW) is 72°982 MOX only 32977, is not considered a 77X APRY 7MW, so if the MR
720K of 1"y N2PN is only 112771 79082 MoK, why is it a MRY APRW Avnw, this proves that by
1"Y naMPn the 77°o8 MoK is N"nn (therefore it is a TIRY APRW 70 NWw), even though the X7 MO°R
may be only 712771 —

mooIn anticipates a difficulty:
= b yWPInT 0IUN TH99 HY 13990 RNMNINT NN MON INT MYPNY PN)

Ans one cannot ask, if it is forbidden n''7m to eat 1"y n217pn, perforce the reason

is because 7"V nN217pPN has been likened to a corpse, so -
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For this very same reason it should be forbidden n"7» 8172 like a corpse?

nBoIN answers:
$ANIND R WIPN NDYIND DINN dNAT IZIN 1239057 1995 91217 W

And one can say; since it is written, ‘and they ate the sacrifices of the dead’, so
1"y 21PN was compared to 2°n», only regarding eating, but not regarding 1827,

Summary
It is possible that 1"y n217pN 1s AXIT2 MOK only 1312777, but nevertheless it is stricter

than 2"wn, since the X1 MO°X is more encompassing. In any event it is certainly
n"7n 727282 70K,

Thinking it over
1. Why is it that if something is n"77 X172 MOR, it no longer belongs to the owner,
however if something is 112771 X172 MOK, it can still belong to the owner?

2. Are we to understand m»doIn that by 1"v n217pn the X7 MoK (regarding 1W17R)
extends even to 77n7;'% even then she is not nw1Tpn, however by 2"wn it does not
apply even to the item itself and she is nwTpn even if he gave her the 2"wn itself?

10 See a,xy.
' See footnote # 12.
12 The 109 in 12, ©°270 reads 2207 “727 o8 11y Y25 187, We are comparing 11ws ¥ (which is 1"y [nampn]) to
o°nn. However, it is limited to 2°nn °nar 12287, Meaning when they ate the 1"y n2pn to 7w Hv1 it is if they ate °nar
oonn.
13 See footnote # 7.
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